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- T - = S = o = 0:”/&,% Wsa
OHM MHMHIASE ADBA
5,000& = 53| « 12& 300
=0l E = 8,470 8,470 0
201 LEt2AH| 8,470 8,470 0
01 AI22t2lb| 8,470 6,180 2,290
ORI AA RS B4
70,0008 = 122 = 23| 1,680
O2YR0 U 2FLH 2T T
150,000& * 30H 4,500
QD AZOICHA T ETY 320,000 = 24 640
Ogltgse EZI 150,000& » 11 1,650
ol - e+& XI& 24,645 23,775 870
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-28 200 TETY 150,000& * 11H 1,650
-840t 100,000 = 404 400
OZ% FHUA HAL 2,550
-S4=0H) 150,000& = 504 750
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SN BHD
Mo XM oLt
el FOIXHA X (B9l & 2)
] _ - FSIEL =
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
02 B2FAEE 18,900 2,000 16,900
OLAMXN2D 2N 2,000
OBIFHIISAN Lo SLEE X2 6,900
04 SIZHEALE = 14,000 14,000 0
OMOIZ2S 40F 4 I8 N 3,000
OMOISNEX SHOISEX X 10,000
OZBISNZAHE X 1,000
MOISRIE X KA =at3 48,748 48,748 0
= 24,374
2 24,374
301 Yere Az 48,748 48,748 0
= 24,374
2 24,374
02 HEIYSNS 48,748 48,748 0
OMDIZNE X R =53 48,748
= 24,374
2 24,374
=2 58X e 20,000 280,000 260,000
ren 2y 20,000 0 20,000
401 AU L] 20,000 0 20,000
01 Al&Hl 20,000 0 20,000
02 MD 2122 20,000
2018 NFerS))| 1,316,898 1,516,475 £ 199,577
DSEY Y L yE2L 299,070 354,500 155,430
229 DSE 262,320 259,000 3,320
201 ety 44,320 49,000 £4,680
01 AtR22/H| 44,320 49,000 £4,680
OB ALDSH(FY, L)
200,000 * 200% 40,000
OXES LAOBIEO| 4,320
-840t 10,0009 * 1224 1,320
ool FALY 500,000%! * 63l 3,000
202 014l 210,000 210,000 0
01 2UhoIHl 210,000 210,000 0
OZ29 NS 210,000
307 12+0| 8,000 0 8,000
05 BI2teIEt3 8,000 0 8,000
ORES DAOBIH0 B2I|2 2let
2,000,008 * 43| 8,000
222 Hfeleis 30,000 90,000 160,000




SN

=ESR eSESRIES]
Sl RPN EERL]
Ha . o9l(3H) - MR - BAS Abod e HlDE2
ol 30,000 90,000 60,000
=20t 10,000 20,000 10,000
D2 YUY X=X 10,000
X 3t 01t 20,000 70,000 250,000
zo dielos 20,000
szl 6,750 5,500 1,250
201 Ypre | 6,750 5,500 1,250
01 AtR 22l 6,750 5,500 1,250
OMREX ¥ EX 6,0008 * 500% 3,000
OFI2£BR JIE 150,0008 * 25 3,750
e SMEXSA 1,017,828 1,161,975 A 144,147
RN 22 X 65,378 68,132 A2,754
101 Q1244 65,378 68,132 A2,754
04 JIZH2ENSE S 65,378 68,132 A2,754
o=uoarga 23,342
onegesea 6,744
oRzeEE 13,175
dATHEE R 17,117
2 o 2 b 5,000
2@l X 12,300 12,300 0
Bre o | 12,300 12,300 0
01 At 22l 12,300 12,300 0
e HEAR 12,0002 * 507H 600
e geg & 18,0002 * 6505 11,700
EN 775,500 634,500 141,000
A= 775,500 634,500 141,000
ESNES 775,500 634,500 141,000
OLEd =X 1,100,0008 * 7052 775,500
LA X 79,200 362,489 283,289
303 ZA2 79,200 129,600 50,400
01 Za2 79,200 129,600 50,400
OZRAXH 282 X
120,008 * 559 * 12 79,200
OHS MSHE X 19,100 21,760 A2,660
Bhe | 19,100 21,760 A2,660
L2l 19,100 17,760 1,340
TAl- T BOIS MSUE (L) 10,800
= 100,0008 * 3JH 300




SN #HD
3 2|a AFeS)|
ool De 2M=X5a SRk
_ _ boNE =
N B3 CR(SI) - HIRAY - BES ko 0l A o1 2
-=L3Z 70,0002 * 150 10,500
OF - Al- 2 288 HSH3 RUE
70,000& = 40 2,800
OF - Al- 2 A HSH3 SUS
70,0008 * 35% 2,450
ORINHA22X MEHE 82
50,000& * 61 3,050
gH2E 66,350 62,794 3,556
201 LEt=gH| 66,350 62,794 3,556
01 AtR2teld] 66,350 62,794 3,556
oY - £x84g 61,970
= 50,0003 » 4% = 112& 22,400
= 39,570
=< 50,000& = 3& » 1124 16,800
gg 30,000& * 3% = 2532 22,770
og=ay 4,380
-HIE M= 2 P 90,0008 * 35 * 43 1,080
-85 7Y 300
-SE M 3,000,000& = 14 3,000
HEs o5 7 AK 1,812,212 1,575,299 236,913
=2 75,366
= 15,800
2 1,721,046
& Jjetxy 412,554 106,619 305,935
= 19,800
= 9,900
= 382,854
2O0IZBAE &5 3,532 6,470 N2,938
201 et 2,092 1,430 662
02 B2 2,002 1,430 662
OQIE S MHH EHI S X
1,245,000& = 28CH = 6/100 2,092
202 Oddl 1,440 1,440 0
01 =UHoit| 1,440 1,440 0
OFBIIBAIL BelF 1,440
CCTVE Xl & =29 279,172 32,041 247,131
201 LEt=2 | 44 172 32,041 12,131
02 33234l 44,172 32,041 12,131
OoggEE CCTV 44172
M|z 20,350% * 3404 ~12E 8,303
2ld=z 26,956
SEYHE 37,1008 « 294 *128 12,911




SN
X{ ZH -
S Tt

=l

0 O
B HT oA
> o K

T

s = U4
Jetxd

0

B O (BIH) - HIRAY - BES

20
B
2

MEEtH =2 167,200 * 7IHA * 12¥ 14,045
= 8,913
cRud=
17,241,0002 * 704 * 6/100 7,242
MEYUHE
7,952,6002 * 74 * 3/100 1,671
401 Al&HI LS 235,000 0 235,000
01 Al&H] 235,000 0 235,000
o CCTVA X 4,700,0002 * 50CH 235,000
MES0IE T2k S (2H) 46,500 46,458 42
= 19,800
[= 5,940
= 20,760
307 QIzto|A 46,500 46,458 42
= 19,800
[= 5,940
= 20,760
02 SIZHAAEX 46,500 46,458 42
OXLEsEe Z2 )X SS(HsE=24
%, XA HE, SESAO0 0+2) 46,500
-ol9l 1,100,000 * 3% = 12& 39,600
= 19,800
[ 5,940
= 13,860
-E=30 13,200,0002 * 3 = 1/12 3,300
A28 2 1,200,000 * 3¥ 3,600
MESI0ES T2 022N SA(ZH|) 15,500 0 15,500
[= 3,960
= 11,540
307 QI2to|A 15,500 0 15,500
[= 3,960
= 11,540
02 QIZtAAEX 15,500 0 15,500
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